


WHY

Traditionally the NOON Sight is Very
Important to Navigators as his Day Starts
at NOON

The NOON Sight gave the Navigator the
Distance Run in the Past 24 Hours

You will be learning how to obtain your
Latitude from a NOON Sight Observation



WHAT

How to determine when it is “Noon”?

How to Find Latitude by Observing the
SUN at “Noon”



HOW

You FIRST determine WHEN NOON
occurs for You

Do a series of Sights at Your NOON
Reduce your Sight to your Ho

Find the SUN’s Declination at the Time
of NOON Sight

Calculate the ZENITH DISTANCE

Combine Declination and Zenith
Distance to obtain Your Latitude



New Terms

Meridian Passage
Zenith
Zenith Distance



Meridian Passage

The moment in Time that the Subject Body
is located on a Specific Meridian (Yours)

All bodies have a Time of being on a given
Meridian

Celestially known as Noon with the Sun

Usually referenced to the Sun being on the
Observer's Meridian

This is known as Local Apparent Noon



Zenith

Indicates a Point Directly Overhead

If an Observer is at a Body's GP, the
Body is in the Observer's Zenith
(directly overhead)



Zenith Distance

Mathematically, the complement of the
Observed Altitude

Zenith Distance = 90° — Ho

Zenith Distance is the side of the

Navigation Triangle that is between the
Observer and the GP of the Body



When is it NOON?

NO -itis NOT when you get hungry

NO . it is NOT 12:00:00 though it could
e

NOON is the Time that the SUN crosses
your Meridian

Your Longitude and the GHA of the SUN are
the same value



The Noon Diagram

Meridian

Latitude £enith Distance

l

Equator

_ 62 Decflnatlon |




How is the Time of Noon Determined?

The Time of Meridian Passage is noted in
the Nautical Almanac for each day.

This Time is the Local Time at the CENTER
of each Time Zone

The Navigator MUST determine how far
from the Center of his Time Zone he is
located

This angular difference is converted (Table
iIn Almanac) to Time, which is then Added (if
West of the Center) or Subtracted (if East of
the Center) from/to the Meridian Passage
Time as found in the Almanac

The Time thus found is the Local Time of
NOON



Example

11 March 2011 You are located at a
DR position of 21 -25 N 068 — 50" W

What Time is LAN?

Go To the Bottom of the Right Daily
Page of Nautical Almanac for 11 March
2011 (in handouts)



2011 MARCH 11, 12, 13 (FRI., SAT., SUN.) 57
Twilight Moonrise
uT SUN MOON Lat. as Sunrise 11 12 13 14
GHA Dec GHA v Dec d HP ol h m h m h m h m h m h m h m
dhl o s o ¢ & Zy Bn. § ,IN72lod13 0535|0641 | OO | OO | O3 | 3
1100]177 26.6 S 3 56.1 |114 04.0 10.8 N22 05.3 4.8 55.2 N 70 | 04 25 | 05 38 | 06 38 =3 ) =l =
01} 192 26.8 55,1 | 128 33.8 10.7 22 10.1 4.7 55.2 68 | 04 34 | 05 40 | 06 35 = =1 o ==
02| 207 26.9 54.1 | 143 03.5 10.6 22 14.8 4.6 55.2 66| 04 42 | 05 42 | 06 33| 06 04 | 06 12 | 07 11 | 08 59
03] 222 27.1 . . 53.1|157 33.1 10.6 22 194 4.6 55.2 64 | 04 48 | 05 43 | 06 31 | 06 45 | 07 14 | 08 12 | 09 38
04| 237 27.3 52.2 1172 02.7 10.6 22 240 4.4 55.3 62 | 04 53|05 45 | 06 29 | 07 13 | 07 49 | 08 46 | 10 05
05| 252 27.4 51.2 | 186 32.3 10.4 22 284 4.3 55.3 60 | 04 57 | 05 46 | 06 27 | 07 35 | 08 14 | 09 11 | 10 26
06]| 267 27.6 S 3 50.2 | 201 01.7 10.5 N22 32.7 4.1 553 | N 58 | 05 01 | 05 47 | 06 26 | 07 53 | 08 34 | 09 30 | 10 43
07| 282 27.7 49.2 [ 215 31.2 10.3 22 36.8 4.1 553 56 | 05 04 | 05 47 | 06 24 | 08 08 | 08 50 | 09 47 | 10 57
08| 297 27.9 48.2 | 230 00.5 10.3 22 40.9 4.0 55.4 54 | 0507|0548 |06 23 | 08 21 |09 04 | 10 01 | 11 10
F 09]312 281 .. 47.2|244 29.8 10.2 22 449 3.8 554 521 0509|0549 |06 22|08 32|09 17|10 13|11 21
R 10| 327 28.2 46.3 | 258 59.0 10.2 22 48.7 3.8 55.4 50| 0512|0549 |06 21 | 08 42 | 09 28 | 10 24 | 11 30
| 11| 342 28.4 45.3 | 273 28.2 10.1 22 525 3.6 554 45 | 05 16 | 05 50 | 06 19 | 09 04 | 09 50 | 10 46 | 11 51
D 12| 357 28.6 S 3 44.3 | 287 57.3 10.0 N22 56.1 3.5 555| N 40 | 05 19 [ 05 50 | 06 17 | 09 21 | 10 09 | 11 04 | 12 07
A 13| 12 287 43.3 | 302 26.3 10.0 22 59.6 3.4 555 35| 0521 (0550061509 3510241119 | 12 21
v 14| 27 289 42.3 316 55.3 9.9 23 03.0 3.3 555 30 | 0522|0550 | 0614|0948 | 10 37 | 11 33 | 12 33
A 12 LE 30,7 20.1 | £7/0 S£.1 1.7 £ &2V & T2 e
Y 14| 27 36.9 55.1 1291 09.0 7.9 23 20.3 22 31 | 23 46
15| 42 37.1 .. 54.1 305 359 79 23174 22 18 | 23 34
16| 57 37.2 53.2 320 02.8 7.9 23144 22 02|23 21
17| 72 37.4 52.2 1334 29.7 7.8 23 11.2 21 43 | 23 05
18| 87 37.6 S 2 51.2 | 348 56.5 7.8 N23 07.9 MOON
19| 102 37.7 50.2 3233 7.8 23045
20| 117 37.9 49.2| 17 50.1 7.8 23 00.9 Age Phase
211132 38.1 . . 48.2| 32169 7.8 22 57.2
22| 147 38.2 47.2| 46 43.7 7.8 22 53.4 d %
23] 162 38.4 46.3| 61 10.5 7.7 N22 49.4 07 35
e )
SD 161 4 10| SD 15.1 15.3 09 55

©Copyright United Kingdom Hydrographic Office 2010



LAN Calculation

Meridian Passage from the nautical
Almanac is 12:10 on 11 March 2011

Your DR Longitude is 68 deg - 50 min
West of Greenwich

Now go to the Conversion of Arc to
Time table in the Nautical Almanac



CONVERSION OF ARC TO TIME

0°-59° 60°-119° | 120°-179° | 180°-239° | 240°-299° | 300°-359° 0’00 | 0’25 | o'so | 075
el h m ° h m o h m o h m ° h m rlm s|m s|m s|m s
0|0 00 120f 800|180 |1200|240| 16 00| 300|200 | 0| 00CO|O0OI| O0O02]| 003
1|0 04 121 | 804|181 | 1204|241 |16 04| 301 |2004| 1 |004|005| 006|007
2|0 o8 122| 808|182 |12 08| 242| 1608 | 302|2008]| 2| 008|009 |0 10| 0II
3|0 12 123 | 812|183 | 1212|243 |16 12 |303|2012| 3| 012|013]|014]| 0I5
4|0 16 124 | 8 16| 184 |12 16| 244 | 16 16 |304|2016| 4|0 16| 0 17| 0 18| 0 19
5|0 20 125 | 820|185 |12 20| 24516 20| 305|2020| §|020| 0 21| 022|023
6|0 24 126 | 8 24 | 186 | 12 24 | 246 | 16 24 | 306 | 20 24 | 6| 0 24| 0 25| 0 26 | 0 27
7|0 28 127| 8 28 | 187 | 12 28 | 247 | 16 28 | 307 |20 28| 7| 028 | 0 29| 0 30| 0 31I
8|0 32 128| 8 32| 188 | 1232|248 | 1632 |308|2032| 8| 032|033|034|035
9|0 36 12| 836|189 | 12 36| 249 | 16 36 | 309 |20 36| 9|0 36| 037|038| 039
8|3 12| 1087 12| 168 | 11 12| 22815 12| 288 | 19 12348 |23 12|48 |3 12|313]314]315
49|13 16| 109 |7 16| 169 | 11 16 | 229 | 15 16 | 289 | 19 16 | 349 | 23 16 | 49| 3 16| 3 17| 3 18| 3 19
50| 3 20| 1107 20| 170 | 11 20 | 230 | 15 20 | 290 | 19 20 | 350 23 321|322 323
S0 | 324 | 11X |7 24 | 170 | 11 24 | 231 | I5 24 | 291 | 19 24 | 351 | 23 325|326 327
52| 328 | 112|728 | 172 | 11 28 | 232 | 15 28 | 292 | 19 28 | 352 | 23 329|330 3 31
53332 | 113 |7 32| 173 | 1T 32| 233 | 1532|203 |19 3235323 33313 341335
54336 | 114|736 | 174 11 36| 234 | 1536|294 |19 36 | 354 |23 36|54|336|337|33%)339
55|340| 115 |7 40 | 175 | 11 40 | 235 | 15 40 | 295 | 19 40 | 355 | 23 40 | 55| 3 4013 41| 3 42} 3 43
56344 | 106 | 7 44 | 176 | 11 44 | 236 | 15 44 | 206 | 19 44 | 356 | 23 44 | 56| 3 44| 3 45| 3 46 | 3 47
571348 | 107 |7 48| 177 | 11 48| 237 |15 48 | 207 | 19 48 | 357 |23 48 |57 | 3 48| 3 49| 3 50| 3 5!
58| 352|187 52| 178 ) 11 52| 238155229819 5235823 52|58(352(353|354)355
59| 356|119 | 756|179 | 11 56| 239 | 1556|299 |19 56 | 359 |23 56|59 356|357]|358]359

The above table is for converting expressions in arc to their equivalent in time; its main use in this Almanac is for the
conversion of longitude for application to LMT (added if west, subtracted if east) to give UT or vice versa, particularly in
the case of sunrise, sunset, etc.



LAN Calculation

12:10:00 Meridian Passage
+ 4:32:00 68° Longitude (West)

+ 03:20 50’ Longitude (West)
16:45:20 GMT of LAN at your location
- 5:00:00 Zone Description
11:45:20 LMT of LAN at your location

(we should be shooting the Sun
at least 15-20 minutes earlier)
Note: that our Longitude estimate is very critical for
determining the time of LAN & when we start
‘shooting’




The NOON Slght — 1 Before and During

The Navigator prepares to start
shooting the SUN approximately 15 -
20 minutes before LAN (approx.
1125-1130 in our Example)

Sights are taken as every minute until
3 minutes before LAN (1142), then
taken at as quickly as possible until 2
minutes before LAN



The NOON Slght — 2 During and After

During that 4 minutes when the
Navigator is shooting the SUN the
Navigator should notice that the SUN
has stopped rising, then hangs in
place, then starts to fall.

Sights are then taken for about 5
minutes or more after LAN to ensure
that the Sun is indeed falling



Graphing Multiple Sights
Before and After Noon

F1l:La.L:




Determination of Latitude

Correct the Sextant Altitude (Hs) to
your Observed Altitude (Ho) in the
usual manner

Subtract the Ho from 90° — this is your
Zenith Distance

Find the Declination of the SUN for the
Time of your Sight (in GMT) in the
Nautical Almanac



EXAMPLE DATA

11 March 2011 You are located at

21° 25 N 068° 50° W

We obtained an altitude of 64° 55.4° for
the Sun’s Lower Limb at 11:45:20 LMT.

Our
leve

height of eye is 115" above sea
. Our Sextant IC is O'.

Go To Table A2 of the Nautical Almanac

for t

ne necessary Correction values (in

handouts)

CHAPMAN SCHOOL OF SEAMANSHIP



A2ALTITUDE CORRECTION TABLES 10-90°—SUN,STARS,PLANETS
OCT—MAR. SUN APR.—SEPT. STARS AND PLANETS DIP
App. Lower Upper | App. Lower Upper || App Corrn | APp. Additional ||Ht. of Coren Ht. of |Ht. of Coppn
Alt. Limb Limb | Alt. Limb Limb || Alt. Alt.  Corr® Eye Eye | Eye
o 1 ’ ; o 1 : : oo 2011 m e it m ’
933 4108 215 | 939 4106212 || 95553 VENUS Sk SO B e ol
945 4109 —214 | 2% 107 —2r1 || 10752 | ; Feb. 18 205 g0 [ 522
56 411002 10 20 S lsHeD 2:8 9 92| 20 — 25
+11°0 —21-3 +108 —210 —51 ° —-30
10 08 10 14 10 32 ’ 30 9:8 | :2:57 =728
RITY =212 +10'9 —209 —50 o < -31
10 20 10 27 10 46 ; toz2 32 1005 | 3:0 — 30
+112 =211 +11:0 —208 —49 4 Lo —32
10 33 10 40 10 59 76 34 1142
10 46 +113 —210 1o 53 +1I'1 —207 = 14—4‘8 36 =33 119 See table
1ri00: T I4.2209. .1y o TILZE208 |l pg it T ik 8 T34 126 b
11 15 T isea08ylng zz 103 —205 | 43_4‘6 ; { 131-0 T35 33| m !
B +116 —207 =3 +11:4 —204 75 00—445 60 +0°'1 =36 i 20 — 79
2 3 +117 =206 | 37 RRd T | | e Mg 4'3 —-37 14‘ 22 — 83
& gf +11-8 —205 = fg +11:6 —202 2 7—-4~3 4'5 -38 14_9 24 — 86
2 ye TIrg —zol s g ]| 35_ 45 | Jan 1-Dec. 31 4'2 -39 12_7 26 — 90
4120 —203 7 4118 —200 53 —41 S, 5 —40 O | B g 93
12 36 12 45 I3::12 [ 52 17°4
+T21 =202 +11-9 —199 —40 60 +0°1 —41
12:58 122 201 | 1304 +12:0 —19:8 1332 4 9% 4o g 0 — 96
13 14 13 24 2 13 53 > 58 o 191 5 d
. +12:3 —200 z +12'1 —19-7 ? 16~3~8 IR o 32 —100
; 2‘5‘ +12:4 —199 1433 gg +12:2 —19:6 1: 19 — 37 63 i R T B (K
+12'5 —19:8 +123 —19'5 —36 —45 36 —106
14 17 14 29 15 03 66 220
+12:6 —19-7 +12:4 —194 -35 —46 38 —108
448 .0 | 1453 # 1529 ° 69 __ 229
7 —19°6 +12:5 —19:3 34 —47
15 05 15 18 15 56 72 239
Bl s +12:8 —19'5 E +126 —192 fei5e =33 =AY 0 40 —II'I
15 3 +12:9 —19'4 Ig ?5 +12:7 —191 16 5—3-2 7'5 —49 22'2 42 —114
12 22 +13:0 —19:3 % 4; +12:8 —190 17 23—3»1 ;3 =50 i il eage Il g
16 <8 +131 —192 R +12:9 —189 18kot —30 s —51 2;! 46 —119
5 +132 —191 g +130 —188 —29 5 —52 48 . —122
17 30 17 47 18 37 88 29-2
18 05 T133 7190 | \g 0 +131 —187 19 162 g2 33 304 | ft /
18 41 +13'4 —189 19 00 +132 —186 19 5672-7 o5 —54 315 2. =14
+135 —188 +133 —185 —2:6 -55 4.—oI9
19 20 19 41 20 40 99 327
+136 —187 +134 —184 —2'5 —56 6 — 24
20 02 20 24 21 27 10°3 339
+13:7 —18:6 +13'5 —183 —24 -57 8§ —27
20 46 21 10 22 17 106 351
ix +138 —185 % +136 —182 e e —58 5 1O = 3T
34 +13:9 —184 39 +137 —181 3 =259 —-59 303 S bl
22 2§ 22 52 24 09 114 376 ce table
+140 —183 +138 —180 —21 —60 vl
23 20 23 49 25 12 11-8 389
+141 —182 +139 —179 —20 —61
24 20 24 51 26 20 12:2 401 ft. :
25 24 +142 —181 25 58 +140 —17:8 27 3471-9 = —6-2 415 70 — 81
+143 —180 +141 —177 —1-8 —63
2634+I S 27“+1 seott v 28 54 _ . Igjoif . 428 | 75 — 84
27 50 44179 | 58 31 4 7 30 22 7 134 4 442 | 80 — 87
+14'5 —178 +143 —175 —16 —65
29 13 i P o e 58 v | 58_1_5 13:80 k22004557 | 855 —189
30 44 : ¢ 13133 s 3343 4 142 469 90 — 92
32 24+I47_l76 33 18 T145-173 35 38 T 147 o7 484 95 — 95
g +148 —17'5 5 +146 —172 —1-3 e —68 8
34 5_'_14‘97‘74 35 5_H4_77‘71 37455 5] —69 49
36 17 .| 3724 e s SIete6 | - W5:SHlE T ABTe R | 100 =219"]
50 —173 +148 —17°0 11 7:0
38 34 +151 —172 | 324 4149 —169 || ¥ ¥ 10 199 -71 528105 799
41 06 42 28 45 3 16'5 54— —
+152 —171 +150 —16:8 —09 =72
4356 L 1o [4529 Licy _ieq || 48 45 o8 169 558|115 —104
075 22 S48 52 3T BN N 421651 174 51385 ="
6k +154 —169 +152 —166 =07} =T
50 43 52 41 56 09 17°9 58:9 | 125 —108
+155 —16:8 +153 —16'5 —06 —-75
54 46 56 59 60 26 18:4 605
+156 —167 +154 —164 —05 -76
59 21 61 50 65 06 18-8 62:1 | 130 —1II'I
+157 =166 +155 —163 —04 i 1
64 28 i STl 67 15 b £ 2 7009 _ . 193 638 | 135 —11°3
7010 13 51314700 7532 03 198 1 654 | 140 —115
+159 —16+4 +157 —161 —02 —79
76 24 79 42 81 12 204 67'1 | 145 —11-7
+160 —16:3 +158 —160 —o1 —80
83 05 86 31 87 03 209 68-8 | 150 —11°9
+16:1 —162 +159 —159 00 =81
90 00 90 00 90 00 214 705 | 155 —12°1

App. Alt. = Apparent altitude = Sextant altitude corrected for index error and dip.

CHAPMAN SCHOOL OF SEAMANSHIP

12°2
12:6
13°0
134
13-8
142
147
151
I5°5
16-0
16°5
16:9
174
17°9
184
18-8
19°3
19-8
20°4
209
21+°4

=101

40°1
41°5
42-8
442
45°5
469
484
498
513
52-8
543
558
57°4
589
60-5
62-1
63-8
654
671
68-8
70°5

ft.
70

75
80

130
135
140
145
150
155

Table A2 Information Page

— 81
— 84

st 11 L |
—11-3
—11'5
— 117
—11-9
=121

for index error and dip.




Insert the Height of Eye correction and Compute Ha
Then go back to Table A2 with the Ha to get the Alt Corr.

Step 1 Correct Hs to get Ho

Record Maximum Sextant Height (Hs = peak Lower

11 o . Hs
height of the Sun at Noon), and mark limb Upper
Record Index Correction off +

1-2 _ S IC 0
(mark sign + if off, - if on) On -

Record eye height (HE) and look up Dip Di - )
Ip

1-3 Correction on the right-hand side of Table A2,
Subtract

for
Local Apparent Noon Sights

front of Almanac (T-8 in notes) HE (1)

14 Record Maximum Sextant Height (Hs = peak

height of the Sun at Noon), and mark limb

Look up the altitude correction on the left-hand side of
. ‘ _ - Alt corr.
lable A2, front of the Almanac (T-8 in notes) -

Starpath Form 107

(correction depends on Ha, Limb, and month)

Now go back to Table A2 with the Ha to get thel Alt Corr.




A2ALTITUDE CORRECTION TABLES 10-90"

OCT—MAR. SUN

PR.—SEPT.

STARS AND PLANETS

DIP

For the SUN’s Lower Limb in
March with an Ha of 64° 45’,
we find that
the Alt Corr. is +15.8°

App. quer Upper | Ap| nger Upper (| App o.pn | App. Additional Ht °fCorr" Ht of Ht. of Corrn
Alt. Limb Limb Limb Limb Alt. Alt. Corr? Eye | Eye
7 : oo 2011 m . fst m 18
oo oA | zg +106 —2r2 | 9 22—5-3 VENUS s R :‘5’ i
56 +10:9 —214 e +107 —21°1 B aeims2 Jan. 1-Feb. 18 g 29 92| 20 — 25
io18 +11°0 —21-3 dsb +10-8 —210 = SiT ° A BN 30 8 |57 mgtg
RITY =212 4 +10'9 —209 3 —50 3 —31 9 5
10 20 ! 10 27 10 46 4 +0-2 32 1005 | 3:0 — 30
o 33+112—2|-| 10 40+II'0 —208 50 59—4‘9 6 +0°1 T4 —32 s
5 6+n-3 —aro | o +1I'1 —207 E X —48 7 =33 See table
= 20 +114 =209 | 23 +112 —206 || 247447 Feb. 19-Dec. 31 3~8 —34 12_2 -
11 15 T isea08ylng zz 103 —205 | 5 —46 ; { 3-o =81 3 I, !
+116 —207 +11:4 —204 A +0°'1 0% 6 33 20 — 7-
1 30 11 37 4 12 00 43 60 43 3 141 79
11 45 +117 —206 11 53 +11'5 —203 a2, I7—4~4 Mg i —-37 T 22 — 83
ot +11-8 —205 B 4116 —202 ot =43 Sei=a 8 e 24 — 86
2 ye TIrg —zol s g ]| 35_ 45 | Jan 1-Dec. 31 4'2 -39 2_7 26 — 90
Takag TA205520370 B 7 4118 —200 : ?2 —41 b 2T 5.2 —40 1 _5 28 — 93
i3 o +12'1 —202 : :5 +11-9 —19:9 13 5 —40 68 +o'1 5. —41 1;4
54 4122 g0 [13% +12:0 —19:8 33 -39 55 —42 3 30 — 96
13 14 13 24 13 53 58 191
. +12:3 —200 z +12'1 —19-7 ? 16~3~8 IR o 32 —100
3.3 +12:4 —199 344 4 100 —19'6 4 — 37 —44 34 —103
355 14 06 14 39 63 21°0
By +12'5 —19:8 155 +12:3 —19'5 e —36 P st LR 36 —106
45 +12:6 —19-7 a2 +12:4 —194 5 3—3»5 —46 38 —108
14 41 14 53 15 29 69 229
1505 T127 7196 | o 1g TI2S5 —193 || L o —34 72 ~47 .
+12:8 —19'5 +126 —192 —33 —48 39 40 —II'I
15 31 1545 16 25 75 249
. +12:9 —194 6 +127 —19:1 632 B BRSO 7 g 0 ]
539 +130 —19-3 3 +12-8 —19°0 55—3»1 79 —50 44 =117
16 27 16 43 17 27 82 271
16 58 +131 —192 17 14 +12:9 —189 18kot —30 85 —51 Rt 46 —119
17 O+I3‘2 —19°1 I +130 —188 18 —29 88 —52 e 48 . —122
2 +133 —190 747 +131 —187 37 _28 =53 ?
18 05 18 23 19 16 92 304 | ft. /
18 41 +13'4 —189 19 00 +132 —186 19 5672-7 o5 —54 31 2. =14
19 20 +13'5 —18-8 19 41 +13:3 —185 o 40—2‘6 55 —5:5 32'_5] 4 —.19
2002 +136 —187 20 24 +134 —184 21 27 —2'5 e —56 339 6 — 24
2046 TIT TIEE | o TIFS SIS, 24 106 97 351 S el
21 34 +13:8 —18'5 2it50 +13:6 —18-2 N IZ—2-3 e -58 323 10 — 31
2225 T 004 5s oo TISTEIST hty 22 114 99 376 | See table
220 +140 —183 3 +138 —180 > 12—24 % —60 8 vl
3 +141 —182 349 +139 —179 342 0% g1 9
24 20 24 51 26 20 12:2 401 ft. :
+142 —181 +140 —17:8 -19 —6-2
25 24 25 58 27 34 12:6 41°5 70 — 81
+143 —180 +141 —177 —1-8 —63
26 34 27 11 28 54 13:0 428 | 75 — 84
+14'4 —179 +142 —176 —17 —64
27 50 i g 1128731 £ o 30722~ - S S R o R
29 1 T8 2 8+I43 15 1 58 L6 13-8 65 . 85 — 8
G SR | o e 38 (& 455 5 9
30 44 3133 33 43 142 469 | 90 — 92
3224 +147 —176 3318 +145-173 35 38—1-4 147 —67 8. i)
g +148 —175 5 +146 —172 —13 e —68 4 g 95 95
3415 +149 —174 3515 +147 —171 37°45.- 1z 5] —69 49
36 17 et - e s SIete6 | - W5:SHlE T ABTe R | 100 =219"]
+150 —1713 +148 —17°0 11 70
38 34 +151 —172 | 324 4149 —169 || ¥ ¥ 10 LOOfe. (528 105 =109
106 42 28 45 34 16'5 7 54:3. | 110 —102
4 +152 =171 +150 —16-8 —09 =72
43 56 4529 48 45 169 558 | 115 —104
+153 —17°0 +151 —167 —o-8 —733
47 07 i 48 52 52 16 17°4 - 574 | 120 —106
+15'4 —169 +152 —166 =03, —74
50 43 52 41 56 09 17°9 58:9 | 125 —108
155 —16-8 6 +153 —165 0 26—0-6 184 5 9L
: Ml i 5?) TI54516% | 6o 06 523 18-2 10 62-? 130 —11°'1
+157 —166 I5+155—163 70 09—0~4 193 =77 638 | 135 —113
+158—|65 : +156 —162 503 g —78 gt Ry
4 3 3 14 +157 —161 7532855 9_ —79 5A4 4 A5
42 81 12 204 671 | 145 —11'7
83 os T 100 —163 T ag +158 —160 P e s, —80 et |ty
3 5+I6'l —162 31 +159 —159 79 oo 98 5 9
90 00 90 00 90 00 214 70°5 | 155 —12°1
App. Alt. = Apparent altitude = Sextant altitude corrected for index error and dip.
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Step 1 Correct Hs to get Ho

11

Record Maximum Sextant Height (Hs = peak

height of the Sun at Noon), and mark limb

Lower
Upper

Hs

1-2

Record Index Correction

(mark sign + if off, - if on)

IC

64

55.4

Off
On

Record eye height (HE) and look up Dip

Correction on the right-hand side of Table A2,

Dip

front of Almanac (T-8 in notes) ll 1E (ft)

115

104

1-4

Record Maximum Sextant Height (Hs = peak

height of the Sun at Noon), and mark limb

Ha

Look up the altitude correction on the left-hand side of
Table A2, front of the Almanac (T-8 in notes)
(correction depends on Ha, Limb, and month)

(mark sign + for lower limb, - for upper limb)

Alt corr.

Starpath Form 107

for
Local Apparent Noon Sights

1-6

Sum the above two numbers to get

Observed Height

Step 1

Determine the Zenith Dist

Record Ho from Step 1, above, and then

2-1

subtract it from 90° to get the zenith distance.

2-2 Zenith Distance

Subtract
RESULT



Find Declination for your Sight Time

2011 MARCH 11, 12, 13 (FRI., SAT, SUN.) 57
Twilight Moonrise

i iy i Lt |t Col [] 5 5 13 14
GHA Dec GHA v Dec d HP o h m h m h m h m h m h m h m

d h : , & : < . . 2 : . : N 72| 04 13| 05 35 | 06 41 —  — )  — |
1100 177 26.6 S 3 56.1 |114 04.0 10.8 N22 05.3 4.8 55.2| N 70 | 04 25 | 05 38 | 06 38 ==  — 3  —
01] 192 26.8 55.1 1128 33.8 10.7 22 10.1 4.7 55.2 68 | 04 34 | 05 40 | 06 35  m— =l el c—c
02| 207 26.9 54,1 | 143 03.5 10.6 22 148 4.6 55.2 66 | 04 42 | 05 42 | 06 33 | 06 04 | 06 12 | 07 11 | 08 59
03] 222 27.1 . . 53.1|157 33.1 10.6 22 19.4 4.6 55.2 64 | 04 48 | 05 43 | 06 31 | 06 45| 07 14 | 08 12 | 09 38
04| 237 27.3 52,2 1172 02.7 10.6 22 24.0 4.4 553 62 | 04 5310545 |06 29| 07 13 | 07 49 | 08 46 | 10 05
05| 252 27.4 51.2 1186 32.3 10.4 22 284 4.3 553 60 | 04 57 | 05 46 | 06 27 | 07 35 | 08 14 | 09 11 | 10 26
06] 267 27.6 S 3 50.2 | 201 01.7 10.5 N22 32.7 4.1 553| N 58 | 05 01 | 05 47 | 06 26 | 07 53 | 08 34 | 09 30 | 10 43
07| 282 27.7 49.2 | 215 31.2 10.3 22 36.8 4.1 553 56 | 05 04 | 05 47 | 06 24 | 08 08 | 08 50 | 09 47 | 10 57
08| 297 27.9 48.2 1230 00.5 10.3 22 40.9 4.0 554 54 (05 07 | 0548 | 06 23 | 08 21 | 09 04 | 10 01 | 11 10

F 09]312 28.1 .. 47.2 (244 298 10.2 22 449 38 554 52 | 05 09| 0549 |06 22 | 08 32 |09 17 | 10 13 | 11 21
R 10| 327 28.2 46.3 | 258 59.0 10.2 22 48.7 3.8 554 5010512 (0549 | 06 21 | 08 42 | 09 28 | 10 24 | 11 30
| 11| 342 284 45.3 | 273 28.2 10.1 22 525 3.6 554 45 | 05 16 | 05 50 | 06 19 | 09 04 | 09 50 | 10 46 | 11 51
D 12| 357 284.3 287 57.3 10.0 N22 56.1 35 555| N 40 | 05 19 | 05 50 | 06 17 | 09 21 | 10 09 | 11 04 | 12 07
A 13| 12 288 3.3 (302 26.3 10.0 22 59.6 3.4 555 35105210550 |0615]09 35]|1024 |11 19| 12 21
Y 14| 27 28.9 42.3 | 316 55.3 99 23 03.0 3.3 555 30/ 0522|0550 |06 14|09 48 | 10 37 | 11 33 | 12 33
: 9.0 331 24.2 99 23 06.3 3.2 555 201 0524 | 0549 | 06 11 | 10 10 | 11 00 | 11 55 | 12 54

Elg 345 53,1 9.8 23095 3.0 556 | N 10|05 24 |05 48 [ 06 09 | 10 28 | 11 20 | 12 15 | 13 11

. 0219 98 23125 3.0 55.6 0|0522| 0546 | 06 07 | 10 46 | 11 38 | 12 33 | 13 28

18] 87 295 S 3 384 | 14 50.7 9.7 N23 155 28 556| S 10 |05 19 | 05 43 | 06 04 | 11 04 | 11 57 | 12 51 | 13 45
19] 102 29.7 374| 29 194 96 23 18.3 2.7 55.7 20 105 14 | 05 39 | 06 01 | 11 23|12 17 | 13 10 | 14 02
201117 29.9 36.4| 43 48.0 9.6 23 21.0 2.6 55.7 30| 0506 | 0534|0558 | 1145 |12 40| 13 33 | 14 23
211132 300 . . 355| 58 16.6 9.5 23 236 2.4 55.7 35| 0501053110556 |1158 1253 |13 46| 14 35
22| 147 30.2 345| 72 45.1 9.5 23 26.0 2.4 55.7 40 | 04 55 | 05 27 | 0554 |12 12 |13 09| 14 01 | 14 48
23| 162 30.4 335| 87 136 9.4 23 284 2.2 558 45 | 04 47 | 05 22 | 0551 |12 30 |13 27 |14 19 | 15 04
amnnl 199 ane ¢ a2 anelanry Ann A A Ma2 28 s gz o e BN nA 27 ne 14 NE AQ 192 89 12 g1 14 a1 18 24
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10
11

12
13
14
15
16
17

18
19

21
22

327
342

357
12
27
42
57
72
87

102

117

132

147

162

36.2
36.4

36.5
36.7
36.9

2

-4

C ) J

37.2
37.4

37.6
37.7

37.9

S 2

38.1 . .

38.2
38.4

SD

16.1

59.1
58.1

57.1
56.1
55.1
54.1
53.2
52.2
51.2
50.2
49.2
48.2
47.2
46.3

1.0

Find ‘d’ factor

233 21.2 8.0 23304 23 569 40 | 18 25 | 18 52 | 19 24 | 21 42 | 22 34 | 23 33 | 24 39
247 482 7.9 23 281 25 57.0 45 | 18 27 |18 57 | 19 32 | 21 24 | 22 15| 23 16 | 24 24
262 15.1 8.0 N23 256 2.6 57.0| S 50 | 18 30 | 19 03 | 19 42 | 21 02 | 21 52 | 22 54 | 24 05
276 42.1 7.9 23 23.0 2.7 57.0 52|18 32|19 06|19 47 | 20 51 | 21 41 | 22 43 | 23 56
291 09.0 7.9 23 20.3 2.9 57.1 54 | 18 33 |19 09 | 19 52 | 20 39 | 21 29 | 22 31 | 23 46
305 359 7.9 23174 3.0 57.1 56|18 35 |19 13 | 19 58 | 20 25 | 21 14 | 22 18 | 23 34
320 02.8 7.9 23 14.4 3.2 57.2 58 | 18 37 | 1917 |20 05| 20 09 | 20 57 | 22 02 | 23 21
334297 7.8 23112 33 57.2|S 6018 39|19 21 | 20 13 | 19 50 | 20 36 | 21 43 | 23 05
348 56.5 7.8 N23 07.9 3.4 57.2 SUN MOON
3233 7.8 23045 36 57.3 .

17 501 7.8 23009 37 57.3| Day | Ean-ofTime | Mer. Mer. Pass. | aqe  Phase
32169 7.8 22 57.2 3.8 57.3 00" 12" | Pass. | Upper Lower
46 43.7 7.8 22534 4.0 574 d m s m s h m h m h m d %
61 10.5 7.7 N22 49.4 4.1 57.4 11 | 10 24 | 10 06 | 12 10 | 16 58 | 04 33 | 07 35

12 |09 58 | 0950 | 12 10 | 17 51 | 05 25 | 08 45 O
SD 15.1 15.3 15.5 13 |09 42 |09 34| 12 10 | 18 46 | 06 18 | 09 55

©Copyright United Kingdom Hydrographic Office 2010

The ‘d’ Factor is the amount of change in Declination in an
hour — in our example itis 1.0’ per hour



Find the ‘d’
Correction
In the
Increments
and
Corrections
pages for
the
minutes of
GMT for
your sight

INCREMENTS AND CORRECTIONS

45"

42 PL/S\lr\Jlgrs ARIES | MOON z::rCorr" iy Corr gr Corr 4§ PLilr\JlgTS ARIES | MOON c:v;rCorr" gr Corrn gr Corr

s o ’ o ! o ! ’ F ! ’ ’ ’ s o ’ o ’ o ’ ’ ’ ’ ! ’ ’
00 |11 00-0 (11 01810 29:9|[ 00 00| 60 45[120 89 00 |11 15011 16:8|10 44-3|[ 00 00| 60 4-6[120 91
01 |11 00-3 (11 02:1{10 30201 01| &1 45[121 9:0 0l [11153|1117-1[{10445|[01 01| 61 46|121 92
02 (11 00511 02:3(10 304|[ 02 01| 62 446|122 90 02 |11 155(1117:3|{10 447 |02 02| e2 47|122 93
03 [11 00811 026 (10 306 || 03 02| &3 47[123 91 03 |11 158 |11 176|10 45:0|[ 03 02| &3 4-8[12:3 93
04 |11 01-0 (11 02810 309 |[ 04 03| &4 47 [12:4 92 04 |11 16:0 (11 17-9|10 452 || 04 03| 64 4:9[12:4 94
05 (11 01311 031(1031-1| 05 04| &5 488|125 93 05 (11 16311 181 (10454 05 04| 65 49|125 95
06 (11 015|111 033 (10 31-4|| 06 04| &6 49[126 93 06 |11 16'5(11 184 |10 457 |06 05| &6 50([126 96
07 |11 01-8 (11 036 |10 316|[ 07 05| &7 50127 94 07 |11 16:8 (11 186 |10 459 |[ 07 05| &7 51[127 96
08 (11 02011 038 (10 31-8|/ 08 06| &8 50[128 95 08 |11 17011 189 |10 46-2|[ 08 06| &8 52(128 97
09 |11 02:3(11 04110 32:1|[09 07| &9 51[129 96 09 (1117311 19110 52|129 98
10 |11 02:5(11 04-3|10 32:3|| 10 07| 70 52[130 96 10 |11 17:5(11 194 |10 46|l 10 08 :t 53 (130 99
11 |11 02:8 (11 046 |10 326|211 08| 71 53[131 97 11 |11 17:8 11 196 | 10 AsSupmiiemmiet 54131 99
12 |11 03:0 (11 04-8 (10 328|[ 12 09| 72 53[132 98 12 11118011 19:9|10 47-1|[ 12 09| 72 55132 10:0
13 |11 03:3 (11 051 (10 330|123 1-0( 73 54[133 99 13 (11 183|11 20:1 (10 47-4{/ 13 10| 73 55133 101
14 |11 03-5(11 05-3 (10 333|[ 1.4 10| 74 55134 99 14 |11 185(11 2014 |10 476 |[ 114 11| 74 56134 102
15 (11 03-8|11 056 |10 33:5(| 15 11| 75 56 (135 10:0 15 (11 188|111 206 (10 47-8 || 15 11| 75 57 [135 102
16 |11 04-0 (11 05-8 |10 338|| 16 12| 76 56 [136 101 16 |11 19011 20:9|10 481 [ 16 12| 76 58136 103
17 (11 04311 061 |10 340 | 17 13| 777 57 [137 102 17 (11 19:3|11 21-1 |10 483|127 13| 777 58137 104
18 |11 04511 06-3 |10 342 || 1.8 13| 7.8 58138 102 18 |11 195(11 214|10 485 1.8 14| 7.8 59138 105
19 |11 048 |11 06'6 [ 10 345|119 14| 79 59139 103 19 |11 19811 216 (10 488 19 14| 719 60139 105
20 (11 05011 068 (10 34-7|[ 20 15| 80 59140 10-4 20 (11 20011 21-9|10 49:0| 20 15| 80 61140 10:6
21 |11 053 (11 07-1(10 349 |[ 21 16| 81 60141 105 21 |11 203 (11 22:1|1049:3 [ 21 16| 81 61141 10-7
22 |11 055(11 07310 352 |[ 22 16| 82 61[142 105 22 |11 20511 22:4 (10 495 |[ 22 17| 82 62|142 108
23 111 05811 07°6 (10 354 |[ 23 17| 83 62143 106 23|11 20-8(11 22610497 [ 23 17| 83 63[143 108
24 |11 060011 07-8 (10 357 || 224 18| 84 62144 10-7 24 |11 21:0 (11 22:9|10 500 || 24 1-8| 84 64 [14-4 10:9
25|11 06311 081{10 359 |[ 25 19| 85 63[145 108 25111 21:3(11 23110502 |[ 25 19| 85 6-4[145 110
26 |11 06511 083 |10 361 |[ 26 19| 86 64146 108 26 (11 21511 23410 50-5|[ 26 20| 86 6'5|146 111
27 |11 06'8 [ 11 086 |10 364 || 27 2:0| 87 6'5[147 109 27 |11 21-8 (11 236 |10 507 || 27 2:0| 87 6'6[147 111
28 |11 07-0 (11 08:8|10 366 |[ 28 2:1| 88 65148 110 28 |11 22:0 (11 23910 509 [ 28 2:1| 88 67 [148 112
29 |11 07-3(11 091|110 369|[ 29 22| 89 66149 111 29 |11 223 (11 241|10512|[ 29 22| 89 67[149 113
30 (11 07-5|11 09:3|10 37-1 (| 30 22| 90 67|150 11-1 30 (11 225|111 24410 51-4 || 30 23| 90 68150 11-4
31 (11 07-8|11 09610 37-3 (| 31 23| 91 67[151 112 31 (11 228|11 24610 516 | 31 24| 91 69|151 115
32 (11 080(11 09810 376 (| 332 24| 92 68|152 113 32 (11 23011 249|10 519 | 32 24| 92 7-:0|152 115
33 (11 083(11 10110 37-8([ 33 24| 93 6:9[153 113 33 (11 233(11 25110521 33 25| 93 7-1|153 116
34 (11 08-5(11 10-3|10 380 34 25| 94 7:0[154 114 34 |11 23511 254 (10 524 |[ 34 2:6| 94 7-1|154 117
35111 08811106 |10 383|[ 35 26| 95 7:0|155 115 3511123811 256|10 526 |35 27| 95 722|155 118
36 (11 09011 10-8|10 385 36 27| 96 7-1[156 116 36 |11 24011 25:9|10 52:8 | 36 27| 96 7-3|156 118
37 [11093(11 11110388 37 27| 97 7-2[157 116 37 |11 24:3|11 26110531 ([ 37 28| 97 7-4[157 11:9
38 (11 09-5(11 11310 39:0|| 38 2-8| 98 7:3[158 117 38 |11 24511 26:4 |10 53-3|[ 3-8 29| 98 7-4|158 12:0
39 (11098 (11 11610 39:2|[ 39 29| 99 7-3[159 118 39 |11 248 |11 26610 536 ([ 39 3-0| 99 7-5[159 121
40 |11 10011 11-8 (10 39:5|[ 40 3:0|100 7:4|160 119 40 |11 250 (11 26:9|10 53-8 [ 40 3-0|100 76160 121
41 {11 10311 12:1 10 397 || 41 3-0[101 7:5|161 11:9 41 (11 25311 27:1 10 54-0|[ 4131|101 77 |161 122
42 |11 10-5(11 123 |10 40:0|[ 42 3-1[102 76162 12:0 42 (11 25:5|11 27-4 |10 54-3 || 42 3-2|102 77 |162 12:3
43 |11 10-8 (11 126 |10 40-2|[ 43 3-2[103 76 [163 121 43 (11 25:8|11 27°6 |10 54:5 (| 43 3-3| 103 7-8|16'3 12:4
44 |11 11-0 (11 12-8 |10 404 || 44 3-3[10:4 77 [ 164 122 44 |11 26°0 (11 27910 547 || 44 3-3|10:4 79164 124
45 (11 11311 131 (10 40-7 || 45 3-3[105 7-8|16'5 12:2 45 (11 263 |11 281 |10 55-0 || 45 3-4 | 105 80| 165 12:5
46 |11 11'5(11 13-3|10 409 [ 46 3:4|10°6 79166 12:3 46 (11 265|11 28410 552 || 46 3-5|106 80 |166 12:6
47 (11 118|111 136 |10 41-1 || 47 3-5|107 7:9|1e7 12:4 47 (11 268 |11 286 |10 55'5(| 47 3-6|107 81167 12:7
48 (11 12011 13-8|10 41-4 [ 48 3-6|108 80168 12:5 48 (11 270|111 28910 557 || 48 3-6|108 82168 12:7
49 (11123 |11 14110 416 [ 49 3-6|109 81169 12:5 49 (11 273|11 29110 559 (| 49 3-7|109 83169 12:8
50 |11 12:5(11 14-3 (10 419|| 50 37 [11:0 82170 126 50 |11 27°5|11 29-4|10 562 || 50 3-8|11°0 83170 129
51 |11 12:8 (11 146 (10 421 || 51 3-8 [111 82171 127 51 |11 278 |11 296 |10 56-4 (| 51 3-9|111 84 [171 13-0
52 |11 13011 14-8 |10 423 |[ 52 399|112 83172 12:8 52 11 280 (11 29910 567 || 52 3-9|112 85172 13:0
53 (11133 |11 151|10 426 ([ 53 3-9|11:3 84173 12:8 53 [11 283 |11 30110 569 (| 53 4-0|11:3 846|173 131
54 (11 13-5(11 153 |10 42:8 || 54 4-0|11-4 85|17:4 12:9 54 |11 285(11 30410 57-1 | 54 4-1|114 86174 132
55 (11 13-8(11 156 |10 431 |[ 55 411|115 85175 13:0 55 |11 288 |11 306 |10 57-4 || 55 4-2|115 887|175 133
56 |11 140 |11 158 |10 43-3|| 56 42 |11'6 86 |17'6 131 56 |11 29011 30910 576 | 56 4-2|116 88176 133
57 |11 143 |11 16:1{10 435 |[ 57 4-2|117 87 [177 131 57 |11 293(11 31110579 || 57 4-3|117 89177 134
58 (11 145 (11 16:3|10 438 |[ 58 4-3[11'8 88178 132 58 |11 295|111 31-4|10 581 || 58 4-4|118 89178 135
59 (11 14:8 (11 166 |10 440 |[ 59 4-4 119 88179 133 59 |11 29811 316 |10 583 |[ 59 4-5[119 9:0[17:9 136
60 |11 15011 168 |10 44-3 || 60 45[12:0 89 |180 13-4 60 |11 30-0|11 31910 586 (| 60 46 |12:0 9-1[18:0 137




INCREMENTS AND CORRECTIONS 45"

(3 3 - SuN r
Corr* | o Corr"| o Corrm ARIES | MOON || or Corr* | or Corr®
q q 45 |paneTS y

r
or
d
’ ’ / /’ ’  } o ’ O ’ ® ' r r ’ ’ L4
I Q0| &0 45|120 89 00 (2125031 368|20443 |00 00] 60 46120 91
1] &3 445|129 90 0 (21135321171 1044502 O] &3 46129 92
01| &2 46122 90 02 111155 111731044702 02 &2 47 122 93
02| &3 47123 91 03 |11158|21176[20450]|| o3 02] &3 48123 93
03] e¢ &7 |12¢ 92 03 (21126021 279|20452(|| o4 03] o4 49124 94

04l &5 448|125 93 05 |11163 2118110454 ]||os 04 &3 49 128 95
04 ¢ 49 |12% 93 06 |11165(1)1 184 |10457||oe OS5 ¢ S0|12¢ 9¢
05| &7 50127 94 07 |11 168 (11186 2045907 O8] &7 51127 96
06] o2 500|128 95 08 1117011189 |104862 |08 O&] &8 S52|128 97
07] 6% 511|129 96 09 (1117311191 |1046allge D71 &9 S2l129 98

07 Yo S2|130 96 10 |12 17512 194 |10 4660| 30 O©O8 ]70 $31130 99
o8] 1 S3|131 97 11 |12 17812 2196 |10 469 TT O8] 71 54131 99
09] r2 53 |132 98 1211218012199 10471 || v2 09 72 S5]132 100
101 3 s4liss 99 13111133111 201110 4rallva ral 23 s5iy1vy 1049

Find the ‘d’ Correction in the Increments and Corrections
pages for the minutes of GMT for your sight in this case for
a ‘d’ of 1.0’ the Correction is 0.8’ for 45 minutes of GMT

CHAPMAN SCHOOL OF SEAMANSHIP



Step 3 Use the Almanac to Find Sun's Declination GMT date =

11-Mar-11

3-1

Record the date and GMT of the sight

(the time the Sun reached its peak height)

GMT (hr) = 16

Turn to the daily page of the Almanac for the date
of the sight, and find the Sun's declination (dec) for

the hour of the sight (line 3-1) and record it here

Record the d-value from the botom of the dec
column in the Almanac. Mark the signs of the
d-value and the d-corr + if the dec for the next hour

is larger, or - if' it is smaller.

Turn to the Increments and Corrections pages at
the back of the Almanac (T-9 to 12, in the notes)
and find the minutes table for thr GMT minutes
(line 3-1). On the right-hand side of the double
line in the table, find the d-corr corresponding to

the d-value of line 3-3

GMT (min)=

45




Place the values of the Zenith Distance and Declination in
the appropriate boxes at the bottom of the Form to
Calculate your Latitude at the time of the Sight.

—> So we
Declination or Zenith of : \ll
Distance .| . SUBTRACT
Zenith Distance or ol .
Declination S 3 39.6
Latitude = N 21 |19.6
RESULT

We are 5.4 nm South
of our DR




COMPLETED
Noon Sight
Form

for

this example

Step 1 Correct Hs to get Ho
Record Maximum Sextant Height (Hs = peak Lower o '
I R , s | ea 55.4
height of the Sun at Noon), and mark limb Upper 1]
; - " ~ =
12 Record Index Correction Ic Ooff + 0 = o0
(mark sign + if off, - if on) On - - cg
Record eye height (HE) and look up Dip Di -1 104 E 8
1p H >
1-3 Correction on the right-hand side of Table A2, F =) 7z
o . . > h B
front of Almanac (T-8 in notes) HE (ft) 115 S 5
Record Maximum Sextant Height (Hs = peak o ' E ;
14 R . . Ha 64 45 « =3
height of the Sun at Noon), and mark limb (=9 =y
Look up the altitude correction on the lefi-hand side of + ! ; E
‘ ) ) o Alt corr. 15.8 - <
Table A2, front of the Almanac (T-8 in notes) - %) 3
1-5 g ; e
(correction depends on Ha, Limb, and month) |
(mark sign + for lower limb, - for upper limb)
Sum the above two numbers to get o '
1-6 ) Ho 65 0.8
Observed Height
Step 1 Determine the Zenith Distance 899 60.0
Record Ho from Step 1, above, and then 0
2% subtract it from 90° to get the zenith distance. Ho 65 0.8
O
2-2 Zenith Distance Z 24 59.2
Step 3 Use the Almanac to Find Sun's Declination GMT date = 11-Mar-11

Record the date and GMT of the sight

3- . . . GMT (hr) = 16 |GMT (min)= 45
(the time the Sun reached its peak height)
Turn to the daily page of the Almanac for the date N 0 :
3-2 ofthe sight, and find the Sun's declination (dec) for Dec (hr) S3 40.4
the hour of the sight (line 3-1) and record it here S
Record the d-value from the botom of the dec + + !
) ) _ d-value -1.0 | d-corr= 0.8
A column in the Almanac. Mark the signs of the - -
“ 7 d-value and the d-corr + if the dec for the next hour
is larger, or - if' it is smaller.
Turn to the Increments and Corrections pages at N 0| :
the back of the Almanac (T-9 to 12, in the notes) Declination = S3 39.6
3 and find the minutes table for thr GMT minutes S
e (line 3-1). On the right-hand side of the double .
line in the table, find the d-corr corresponding to 3-5 APINY e C 00N Ko S Cecy () st reoond it

above

the d-value of line 3-3
Step 4 Find Latitude Declination or Zenith 24 9 592 i
from Zenith Distance and Declination Distance )
Record DR Latitide to use as a guide, and then Zenith Distance or ol '

; s ST e e 3 39.6
take the sum or difference of zenith distance and Declination S
declination to find vour true Latitude at LAN ) of :

e 21°25'N | Latitude = N 21 19.6




Summary

You have Learned How to Determine
the time of LAN

You have Seen How to Determine your
Latitude from your NOON Sight



